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3 10:28 DSCJ /—ERE, 77V 2 C'R # R B 6 1 6
4 10:32 DSCJ Dk TV 2 C'R #£ R B 7 1 6
5 10:35 DSCJ CHkik TV 3 S-C-R # R B 10 1 6
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8 10:54 DSCJ /—ERE 37U 2 C-R RO 6 1 6
9 10:57 DSCJ Dk ITY 2 C-R ROB 6 1 6
10 | 11:01 DSCJ CHkik ITY 3 S-C-R ROOB 6 1 6
11 | 11.06 DSCJ Bk TV 4 S:C:R:P | & 6 1 6
12 | 11:14 7 T ARRERL ITY 3 S:C:R RO 5 1 5
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18 | 13:31 DSCJ C#Rkif Y3 V2 B Q) 2 T-F 2R FE 24 2 12
19 | 13:38 DSCJ Bk A= 3 W-T-F IRFE 24 2 12
20 | 13:49 DSCJ /—ERE,  A4%u% -t 2 W-T # R B 8 1 6
21 | 13:53 DSCJ D#fkk Aava = @ 2 W-T R B 12 1 6
22 | 13:57 DSCJ Cik RuE = @D 3 W-T-F | %R B 12 1 6
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24 | 14:20 -7 ARREL VLR 2 W-T # R B 7 1 6
25 | 14:23 DSCJ /—EXEE  24u8-F 2 W-T RO 6 1 6
26 | 14:27 DSCJ D#kk Aava—F @ 2 W-T RO 6 1 6
27 | 14:31 DSCJ CikE; YTV R Q) 3 W-T-F | R B 6 1 6
28 | 14:36 DSCJ Bk Aauy—p 4 W-T-F-Q | & B 6 1 6
29 | 14:43 -7 ARRER VLR 2 W-T RO 6 1 6
30 | 14:47 DSCJ C#ki AVE = @ 2 W-Q 1RF & 29 3 18
31 | 1458 DSCJ D#fkk VS V2 Rl ) 2 F-Q 1R FE 16 2 12
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36 | 15:46 -7 BiRE Aaua =K 2 W-T # R B 10 1 6
37 | 15:49 =70 BiRE Aaua =K 3 W-T-F # R B 8 1 6
38 | 15:55 ZT7I ARRER A= 4 T-V-F-Q | # R B 9 1 6
39 | 16:02 DSCJ Dk AaUE—F @ 2 F-Q RO 6 1 6
40 | 16:06 DSCJ C#k# AvE = @ 3 W:-F-Q | R B 6 1 6
41 | 16:11 LZ7N Bk A= 2 W-T ROB 6 1 6
42 | 16:15 L7 BfRE A= 2 W-T ROB 6 1 6
43 | 16:19 =710 B Y VLR 3 W:T-F ROB 6 1 6
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